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A force of 500 N inclined at angles of 600, 450 and 1200 respectivery with x, y and zgI;,1}{lqrhe force in vector form..,D,rB' r-aml's equatlon, determine the tension in_the string AC and reaction u, poid?L, irthe weight?qfe sphere t$,4.4{,0 N fo, tl",*,tgr*re I . :.... ,.... r2r
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2.a)

PART-B

The resultant of two forces one of which is 3 times the other is 300 N. when the directionof smaller force is reversed, the resultant is 200 N. Determine the two forces and theangle between them.
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1est9 in,g.ho.rizontal pos,i!!o4 on the smooth inclines asshown i{,'I1ie'figure 3. ciirnffie the disrailqd"* 
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A block of 50 kg mass it:y.p"4ed by two ropes attached to the wall at points A and B
T sholn in the figure 4. The-block is held u*uy ao* the wall by a horizontal strut CD.Determine the tensions in the two portiorrr orinr rop. u"a the force in the strut. Thecoordinates, of the points-A;..8, C and t.fri:{4, 3, d, (S:,g;:g), (0, 0, A);:ul* (0, 0, t) :...respectivelyi"t : I:^ ;'-.i i ". ::..; i ,.. ,:.., i",:. i:_.. tt,] r 
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A7 mfO4H.itaaer rests ilaili,t a verticai:,r.rpifi witr, whii,h:ii$akes an a{gf4.oif +s0 anait is on d riobr. If a,man, ;i6'i" *gigrrt is'ond'iiarf of thai of the ladder, ctiin6d'it, at whatdistance-along the ladder will he be-when the ladder is about to slip? The coefficient offriction between the ladder and the wall is l/3 and coefficient of friction befween the- ladder and the floor is r/2. va ,rvrrvrr
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* 20aoN

and the straight line

Figure:6
Find th9 coordinates of the centroid of the area left after removing a square area from the
plate as shown in the figure 7. [5+5]
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8.a) Determine the mass moment of inertia of a rectangulai plite of size "a" x "b" and

thickness "t" about its centroidal axes.
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Find the mass moment of inertia of the solid cone of height 'h' and base radius 'R' about
its axis of rotation.
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